PROFESSIONAL EXAMINATION BOARD
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Topic:- Child Development & Pedagogy (CDP)

1) Albert Bandura was a proponent of which perspective of personalities? / 3eac EIT;RT Hfdaed
¥ fora ultven & ywara® A2

1. Humanistic/ #ATIaarey

2. Behaviorist / sTdgRarer
3. Psychoanalytic / HITI2eoT

4. Social cognitive / HTHATSS HATdTcHD

Correct Answer :-

« Social cognitive / HTHISIS HaATATcHER

2) The differences observed among different human groups are typically ./
faffieer e @oEl & v 3@ 9 A AR A g Bl

1. genetic / 3ﬂ?:|DEITfQ\IT=I~T (Steifeah)
2. cultural / '\‘:l'lﬁ_?ﬁﬁ?

3. artificial / A

4. heredity / T (813

Correct Answer :-

« cultural / F@m

3) Success of Inclusive Education depends most importantly on: / ¥aTaeft fam $ir Twerar
e Agcaqol ¥ ¥ 30 W s el @

1. High quality textbooks / 3T I[UTaAT T ITSTIEAH
o] ]

2. High quality teaching learning materials / 3= J[0TaT <l RI&T0T 3feraTe AT

3. Community Support / HTHeTR—e% FHI



4. Additional change among teachers / f21&Tent & g AfaRed Seara

Correct Answer :-

« Additional change among teachers / fraTeri & &g 3rfaRed scoma

4) Kohlberg and his associate postulate stages in moral development
divided into three major levels. /

FIEAT 3T ITd AN FT AT ¢ o Afas Qe & ATEATHT HY
ot s ¥t F fenfore R 21

1. Two /@l

2.Six / B8
3. Nine / @t

4. Four /dX

Correct Answer :-

5) Development never stops. This statement emphasizes the principle of: /
T 3t A€ TFan a7 FyT e Rgyid W AR & &

1. Integration / TehIhiOT

2. Individual differences / STTFIINT ATHG

3. Uniform pattern / TehgaT deaT

4. Continuity / IBRGEGI

Correct Answer :-

o Continuity / IBEGRGI|

6) Learning to drive a car, singing or memorizing a poem or mathematical table etc need exercise
and repetition of various actions and movements many times. These cases of human learning which
involve the connections in the brain being strengthened or weakened are part of which law of
learning by Thorndike? /

FR, TN dr@ar a1 sfaar a1 afordy afaer snfe #F a1 @a § [T 7§ I/ 3w 3k R
Ft TUT FAT & qAGTa A HEGRIFAT gt 81 AT HIH F g7 Al A, ARTF A waw
ASGd a1 FAGR BT 8, TE A6EES & e &1 wia-ar s 32



1. Law of exercise / 373amq &7 fa=uer
2. Law of effect / 98T &7 @&
3. Law of readiness / dc@dr & f@a#

4. Law of Attitude / 3-Tf3\-1'q;% EORGEE:

Correct Answer :-

o Law of exercise / 37#ard T g

7) The function of Educational guidance is: / e AR #T FF %‘:

1. getting the best out of education/ TI&T T qafdaad areT S|

2. understanding the philosophy of great educators/ HgleT TI&ThT & g P FHSTEATI
3. giving occupational information/ SATAHT A SATThRT ol |

4. inculcating social interaction among the students/ BTEl & &g Ao Helollel SgleT|

Correct Answer :-

« getting the best out of education/ fY&T T Hafda 8T STl

8) The best method to study diversity among pupils is through method /
gt & & Rfvvar # sregas F @ F1 799 3reor alwr fafer 3

1. Introspection / 3frcAfAdeTor
2. Experimental / TAeTcHS
3. Observation / 3Tdcliehel

4. Case study / g Tear

Correct Answer :-

« Observation / 3/deliehel

9) Cephalocaudal means: / Q%dlhsd FT 7T §:
1. Headtotoe / RX ¥ |

2. Whole to part / qoT & 3711

3. General to specific / AT & fafrse

4. Center to periphery / %eg & IR

Correct Answer :-



e Headtotoe / T & X

10) Whose theory focuses on the culture in which a child grows up in? /

frasr Rguia sepfa w Sia Far ¢ e v a=an 31 @ 22
1. Fromm / W&

2. Freud / WIg8

3. Vygotsky / aTSaNcHT

4. Kohlberg / SigeladT

Correct Answer :-

« Vygotsky / aTSalcaehr

11) A child learns to stand up only when a teacher enters the room and not when a student or any
other adult does. What principle of learning explains this behavior? /

T goaT had I3 TsT T § o9 &7 A #H 93T a1 § o & 9 FI$ o a1 FS
I TIAEH AU FAT g1 ATH T FlT 61 RUia 390 YqeR T SATEAT T 82

1. Stimulus discrimination / 3¢gr9eh TaAEIHTOT
2. Stimulus generalization / 38&I9eh HTHTAHIOT
3. Stimulus response / 3egIdeh 3ieffshar

4, Stimulus observation / PE@W geqoT

Correct Answer :-

« Stimulus discrimination / 3¢gI9e [dAEIHIOT

12) What would an intelligence test that deals with experiences common to all cultures be called? /
U e qdeTor FT g ot Wit wEfadl F WA InepdEl @ wefta §?

1. Culture forward test / Wﬁf 31faA odegor

2. Culture biased test / Fﬂajﬁf g&TqTelr gIeToT

3. Culture free test / HQ-_G‘}_?% HAFd gr&ToT

4. Culture fair test / TEPI TASTeT qlraior

Correct Answer :-

o Culture fair test / FREE% fasger greTor



What types of questions assess knowledge of general information in an intelligence test? /
T e TOETT H FHT AARR F AT F Hedisded FH IHR & 90T A §2

1. Comprehension / 9

2. Information / e

3. Similarities / FATT

4, Proverbs / shgldd

Correct Answer :-

o Information / eIt

14) What is most true mental health problems? / ¥a% JFdRAF HAATAS TARLT THTIT FAT §?

1. Mental health problems means unable to do work./ ATTHH TATELT THATATAHT FT AT HH e
F; 3raAdar ¥ gl

2. Mental health problems means unable to recognize people and things around. / HATATHS TATELT
FAEATHT &1 3 §, el 3R 3 el 1 T8 ggarta|

3. Mental health problems can affect the way we think, feel and behave./ AT TATELT AT,

gAR WIel, AGH el 3N TagR el & i &l gnfad X dahct &

4. Mental health problems can affect the way we respond./ AT TATELY ATAT §AR SATS col
& dl F gfad FT Thal &l

Correct Answer :-

» Mental health problems can affect the way we think, feel and behave./ ATAAS TAELT AT,
gAN Ao, AgHH el 3N TR el & dleh dH FHTTIT T Fehell &

15) What type of intelligence is likely to be used during a game of cricket? /
e & @ & ke, P gFR A qeftwar & gl frw S@ A gerEer 87
1. Bodily-kinesthetic intelligence / emiRer-arfaaadr gajﬁw

2. Naturalistic intelligence / Ear#Tfaes gaﬁlm

3. Musical intelligence / Hfid Haeh geframr

4. Linguistic intelligence / 19T Heell geferar

Correct Answer :-

« Bodily-kinesthetic intelligence / MRYReR-aTfcrEaer gefemar

16) Apart from formative assessment, another type of assessment that provides insight about the
sufficiency of instructional materials is: / TdellcHA® IThelol & AT, Th e YR FT dThoed



N Prencas aAAET i wAicaar F X F A yereT Far &

1. Diagnostic Assessment / IGEGIRCRICRG
2. Interim Assessment / TR 3TTeholel
3. Summative Assessment / TRMTcHS 3Teholel

4, Entrance Assessment / I 3Teholed

Correct Answer :-

o Interim Assessment / 37dR#A 3Teholel

17) Zone of proximal development refers to: / GHIGET 1 FT AT Weid FI4a1 &

1. What learners have not yet developed / Rremff 7 onft 9% w1 fawfRa el fobar %’?

2. What learners can do with or without help / ﬁ[&ﬂ?ﬁw & TIY I I9P o1 1 HR b %'?
3. What learners are able to do proximally? / Rremff gfuf®y oo &3 7 gem %?

4. What learners are able to do distally / fQ[&HEﬁW T HA A H&H %"?

Correct Answer :-

« What learners can do with or without help / fQI&ﬂ?ﬁﬂETCI?lT & TIY T I o1 T B Ihel %?
18) Pedagogy is the study of . | TRyamemEy T I B

1. Learning process / 3if&ere gfshar

2. Teaching method / fRr&for fafer

3. Guiding students / BTl I NS T

4, Education / et

Correct Answer :-

o Learning process / 3if&ere gfshar

19) Harry loves solving puzzles everyday as he finds solving puzzles fun and exciting. This is an

example for motivation./%‘ﬂﬂﬂFﬁﬂ'mﬁ'ﬁma@m%mﬁ
qgell A G IeeEF AR VATEE T 71 TE YROTT FT TS 3G &

1. intrinsic / 3-1?3-1?[

2. extrinsic / STed

3. fear-based / HI-3TUTRA

4. power-based / Wfad-3nuTid



Correct Answer :-
¢ intrinsic / 3-1?3-1?!'

20) Who argues that the mediation of someone more knowledgeable is vital in learning? /
FlT aF a1 ¢ & Rl A wereyan, st gl sfteme & mgaget @2

1. Piaget / TOTSY

2. Erikson / 3R&deT

3. Freud / %1IS
4. Vygotsky / aTgaiicaehl

Correct Answer :-

« Vygotsky / aT8aicaehr

21) Who proposed the idea of fluid and crystallised intelligence? / d%eT 3iX 3/ gaﬁmm F AR
FT y¥aiad fFas @

1. Cattell / Shcel

2. Gardner / TMSeRR
3. Sternberg / ¥TTASdT
4. Guilford / FRrewiE

Correct Answer :-

o Cattell / heel

22) Adolescence means: / fReiRa®dT &1 31 § :
1. To do work / TH T

2. To grow / SgaIT

3. To play / WelaT

4. To study / 37€ITeT hIAT

Correct Answer :-

o To grow / dgdl

23) Symposium is a type of / TS (RAFNTHIHA) v YR gl



1. Demonstration method / 92T fafer
2. Lecture method / ST fafer

3. Discussion method / faat-fasret fafer
4. Discovery method / @IaT fafer

Correct Answer :-

¢ Discussion method / aR-faAer fafer

24) According to Vygotsky, the major emphasis for cognitive development is: /
AFINCHRT F HAR, TAAcHS FFa & v yga ok @

1. education / forem

2. religion / ey

3. intelligence quotient / m
4. social factors / ATATTS GRS

Correct Answer :-

« social factors / TS TR

25) The aim of scientific investigation is to provide students opportunities: / aﬁm ST &1
I BHEI P 4 TR UeH HAT &:

1. cognitive processes only / dhael FallellcHe IThATHT

2. to use concepts only / hdel JTURUMAT T IUAT FA & [T

3. skills to solve problems only / shdel HHAEIATI A gl Hel o foIT Hierel
4. all of the above / 3GNFd THY

Correct Answer :-

o all of the above / 3R THT

26) Beliefs about fundamental categories and properties of world are
3P 9 e AR o Ui & i ¥ A, 2

1. Epistemic beliefs / 3{eIsTa#]erer favara

2. Epistemological beliefs / AAAARNT faeara

3. Ontological beliefs/ HdTH I faeara

4. Axiological beliefs / HeT AT faeard



Correct Answer :-
* Ontological beliefs/ HcTHeleh faeara

27) A child suffering from dysgraphia has: / f&&nftear ﬁlﬂ'%?r = F A g 8
1. Language difficulties / HTT H ao‘%—«n's‘

2. Low mathematical abilities / &} TIOTHT &
3. Reading difficulties / IgsT & HisATS
4. Writing difficulties / foraa o wfg=ms

Correct Answer :-

» Writing difficulties ALECER: KAtRIE

28) Learning by Project Method is technically known as: / TSI (tlﬁ'!ﬂTrF-lT) fafdr gry Srferme
TAP-D! U A Hgard ¢:

1. Adequate Iearning/q?JI‘I'ch 3T

2. Efficient learning / THTAT 37T8I9Te

3. Incidental learning / 9TE T3 378
4. Systematic learning / SIaT&Ad 371891

Correct Answer :-

+ Incidental learning / T3 37T

29) With respect to Principles of Child development which of the following is false? /

fFrrafafad 7 ¥ $19 9ra e & Rigidl & J69y & 3/ 22

1. Development depends on maturation and learning / f[d&, gRYeFadr 3R 319 ) TR
AT gl

2. Development proceeds from specific to general /ﬁih‘m, Tafrsear & GrE=Iar 1 3 dedr
gl

3. Development proceeds from simple to complex / faerar, aerar & SAfeerdn @f&ﬂ?ﬁ@?ﬂ%l

4. Development proceeds from top to bottom / fderT®, 3T T A= HT 3 dear |

Correct Answer :-

« Development proceeds from specific to general / fdar®, fafRrsedr & @#aIdr i 3R dear
gl



30) Typically, children create gender stereotypes by ./ SMHAR W, T
fer Thfatersy s14 21

1. not socializing due to gender-specific activities / fefr-fafary nfafafeal & SR THESTER 98] 1 TR

2. focusing on the negative attributes of the opposite gender / foia i1 & TeRES ’:[Uﬁ R & diad
HhY

3. maintaining gender-neutral friendships with children of both sexes / GIHI faiTl & d=al & a1y feiT-Feger
G §TE TGHR

4. sexualizing peers of both genders / o foi o Tnfa | DDAl d[hR

Correct Answer :-

« focusing on the negative attributes of the opposite gender / TATRId feffT & AHRIAD O IR &
Digd PR

Topic:- General Sanskrit(L1GS)

1)
{jj{dlilcrw: FET UcHd 379T: oh: ?

2.

T@Fg{: |
3,
4.




, Gied |
, S |

Correct Answer :-

3TTET |

3) ) & : *
dccdTelldh:’ $ca3d Hicudeig Dod |

_ dcd 3Tellh: |

, dccdrl 3Telleh: |

_ dccal oeh: |

, decd lleh: |

Correct Answer :-

_ dcd 3Teliep: |

| GedHlel |

, grehrel |

Correct Answer :-



Y Fegaer 3fa deET Howd fHA 2
| oGt |

 TegINH |

_ TogaliHe |

_ TogrENTA |

Correct Answer :-

T INfAT |



FBrger sfa e MNeoad |
A |

, 2GR |

_Aeer |

, e |

Correct Answer :-

G |

Correct Answer :-

T |

9)

HUTAT: NE-3caATeY-Thaaad fFa ?

37879 |



2. |
AT |

3. i

3T |

Correct Answer :-

_sqarfeT |

1.

El'?l’l}'d’ I
2.
§ AW |

. MATAT |

Correct Answer :-

genza: |

1. =2 =
A9ghH |
J ™



- -
3.

A |
4, ~

Correct Answer :-

Healled 3ca¥T fAugaea e 2

| HEATT HeAed |

12)

e 3ed |

| el T 3ied |

, TeaTl #d |

Correct Answer :-

| HEAE T 3ed |



Correct Answer :-

* afea scaew g R 2
S |

SR |

. Toicar |

, ST |

Correct Answer :-

ST |



, gl |
g |
, g
, aRRcar |

Correct Answer :-

18) .
AT ST T Id: & ?
g |

ol



3. = &



Correct Answer :-

* ye32 =fa gEar sl foaa |

ARG U= adcaiR e |
1.

ARG adca RATad |
2.

AT ARG U= a I Al RATE A, |
3.

ARG U adcaRAes s |
4,

Correct Answer :-

ARG AT adcal AT |

_ A |
3. = |

fefsrara |
a, e

Correct Answer :-

_ dresh |



23)

UHTEAT X Hid AN fagded ?
I |

UG |
CIAN
| TG |

Correct Answer :-

IS |

3.
, gfesafa |
Correct Answer :-

gfesafa |



UUH |
TR |

, 3cdH |

Correct Answer :-

A7 H |

 AUEH AT

LGUEHATS |

Correct Answer :-

QUEAHAS |

7 oG ared TRed |
= =
| 3719 gcgeT: Red |

379 9CqeT: MR |

_ 379 ICIET 3T |



319 dcdeT: 3ed |
4. e
Correct Answer :-

379 gegeT: IRd |

N AME: |
4.Q : I

Correct Answer :-




30)

v.3¢ 3T guew waN: orE@T |
B EIEN B E R It
BENSECHBERICICT
RRERIENCBERISEICO TS
REEIENHBERICEEO Dl

Correct Answer :-

BCEC I ENCDCR S CICO

Topic:- General Hindi(L2GH)

1) & 3 @R 3 gAR, o Wi § gad AR |
fRufift-gope Aler UR, S & GUT A |1 S & URd 377 11311
TH 099 19 ¢ @RI, Y94, T 39 ART |

AR T9-0 931 W 9R1, aof: YoI-faRIy 11 9 & URa = 1111
TR &0 R 8 91, A o su w9 |

ST fUraT 3 gt 7T, 19 G RN 11 R S YR ST 1131

o o 7 3= &\, AaR | off g AR

? YU g3t WorRst, S 8 SRR 11 S YR S/ 1% |
3@ 3R B fe@end, Su®1 g ae g v |

Wd U HHI BT UM, T4 A9 19 11 F & URA S 11411
9 &I 39 U Rraeman, Hyal 31 g1 | et |
AIGYA-JHTG T13M, Al THd FA || o S HRA ST 11§11
fog gaewT ST, 9% Md He -1 |

9 & 9 R ASE, Bal-Bal W 11 F & YR S 11011
$TAT YR AR, W1 T & R gAN |
YR-RI P GREAN, A A A I 11 S YRA S 1< 11
ITT U B UgH 19 U T UY $T 3WR JaIsd:



U - A FIPFTRIE ?
1. Sl g
2. 51

3. PS5

4. 9101

Correct Answer :-

2) & & WR R R, I a9 § T AR |

U -gpe a-iER R, & S GHT FA 11 T S YR S0 11211
T 39 9 9 & WRI, g, T & TART |

A T-01 991 W 9RT, aof: GoI-faRiv 11 & & URa 31 1111
T W g9 AR 8 9d, o¥t 79 g iR e |

ST fUaT 3 gt 7, g1 @ SRR 11 S YRA ST 113
39 3 3= & T, et # ot 3 A

? YU gt WurRSt, S 38 8RR 11 S YR S/ 1% |
3@ 3R ®1E fegena, IusT 7d g 81 o |

W 3O HHI BT UM, g9 99 T 11 S S YR 11411
99 3 oH S Rrgemsi, Fvell S g # amat |
AGYA-TUTG Fe13, Al THd FA || F S YR S/ 11§
g goemT ST, a1 19 W WS- |

TG & T R A, PaAl-Hal W || F S YR ST 11011
ST STUR §UR, gRI T8 & §R &R |

Y- P EREAN, AR A F S 11 S URA ] 11¢11
ITa UL B UgHR - U T UY BT IR Ia133:

T - IR e A PA-A iR 2

1. g¥d X @Y

2. ol |

3. 3m1ie |

4. 9[0T |fEr

Correct Answer :-

.:JIUTq:ﬁ%r



3) 9 9 WR ¢ R, I9 @i & Ta1 AR |

U -gpe a-ieR R, & S GUT FA 11 S S YR S0 11211
T gagd 4 ¢ WRT, T GG, G §9RT |

A T9-U4 g3 W AR, 99: Yo-fIRY 11 9 S URG 1 11R11
AR R g 9, A e g A 9ed |

ST fUaT 3 gt 7T, g1 @ SRR 11 R S YR ST 113

o 3 ¢ 3% & W, TRt A Wt 7 AR

? YT gt WU, S 38) 8RR 11 S S YRE S/ 1% |
3@ R ®1E fegea, SueT od g 81 o |

W 3 HHI BT UM, g9 A T 11 S S YRS S 1141
99 3 oH Y Rrgenai, Fvell G g # ama |
AGYA-TUTG Fe13N, At THd HA |1 S YR S 11§
g goemT SIS, a1 19 W WS- |

|9 & 99 o ATE, Fol-al W |1 & URA S 11011
TT STUR §AR, g T8 & TR &R |

Y- P EREAN, AR A F S 11 S URA ] 11¢11
I U B U ) UD ¢ Uy HT IR a3

U= - U Sidal # $id fFaa! Tu-SaadR HIIET 8 ?
1. G2 &l

2. 3G &I

3. 4T

4. ferareT &1

Correct Answer :-

o AU FT

4) & TR I AR, @ dd & I9d =R |

R -gpe aiER R, &  GUT FA 11 S S YR 7 11211
T IAYA G T § WRT, T g, T 3 §ART |

TR T-01 991 W 9RT, aof: GoI-faRiv 11 & & URa 1 1111
TR &0 R 3 9, A e g A ged |

ST fUaT 3 gt 7T, g1 @ SRR 11 R S YRA ST 113

o of 7 3= &\, AreRt | off § A o



? T gt Wornt, S 38 89N 11 RS YRE ST 1% |
3T IR 1 REa, 3u®T gd gor gt o |

WA U HHI BT UM, I A0 19 11 S F HRA <= 11411
99 3 g U Rygemsi, Tl 32 g # 3 |
AGYA-TUTG Fe13N, At Thd FAN |1 o YR S 11§
fog gaeH ST, 9= Md A -1 |

TS & 99 a¥ QAS1S, Gal-Bal W || S URd 37 11011
3P 3MTYR GHR, TR T & 8RR §AR |

Y- P gREAN, A A XA A 11 S RT3 11¢11
ITT U B UgHR 19 I T UY P 3R JaIsd:

W - U Pfdar & fag Sfra <fide a1 gt a@ar g 2
1. I G I3

2. HRd a9 IRT

3. 3131 e el

4.9 X &
Correct Answer :-

e 9RT Y WIRT

5) & & @R 3 gAR, 7 & § Fad AR |
fRufift-goe aler 4R, S & GUT JAY |1 S F YR 377 11311
T 099 | Td ¢ @RI, G4, T 39 ART |

A T9-U g3 W IR, 99: Yo-fIRY 11 9 S URa T 11R11
T R 89 AR 8 91d, a8 o gu S 9erd |

ST fUraT 3 gt 7T, g1 ORI 11 R S YR ST 113

o of 7 3= &\, AeRt | off g AR

? U gt WornRst, S 8 8RR 11 RS YRA S/ 1% |
3 R B fawed, IHbT 3U o §1 &4 |

Wd U HHI BT UM, T4 A0 19 11 S & URA <= 11411
99 3 g U Rygemrsi, Fvel 32 g # 3 |
AGYA-TUTY Fe130, Al Yhd FAN |1 I o YR S 11E1
forg gaew ST, 9= Md A -1 |

9 & 9 R ASE, Pal-Bal W |1 F & YR S 11011
3PS 3MTYR GHAR, TR T & BR gAR |



Y- FERGAR, A A A F G 11 S YR S 11C

ITdad U B U 19 U T Uy P 3w IdIgd:

W= - Ugd ULl ot Ul “gH g A & WRT § e &1 1 44 g g ?
1. IS¢

2. 9

3. faaen

4. geX

Correct Answer :-

6) 9 & WR 3 R, {19 i & Fa9 AR |

U -gpe a9iER R, & S GHT JA 11 S S URd 0 11211
T4 U T4 § WRT, T GG, L G §AR7 |

A T99-U4 31 W AR, 99: Y- 11 9 & URG 1 11R11
T W g9 AR g1 9d, ot 79 gu iR e |

ST T @ ot 7Td, §19 G AR 11 X X URA =131

3 & 3 3= & T, el 7 oft 3 A

? UUrY gEreh! YurR, Sftd T8) SRR 11 S & HRd 7 11¥11
3@ R B3 fawed, IHbT GU qer 81 &4 |

W 3O HHI BT U, g9 9 AT 11 S S YRS S 11411
99 3 oH S Rrgemai, Fvell S g # amat |
AGYA-TUTg Fe13, At THd HAR || F S YR T 11§
fog ga@w™ SIS, 7% T1d HE WIE-WE |

TG & T9 R A, PaAl-Hal W |1 F S YR ST 11011
3P 3MYR GAR, TH1 Td & TR §AR |

Y- P ER AR, S XA IS 11 S YR ST 11¢ 11
ITYad U B U 19 U T Uy P 3w IdIgd:

U - ®fd &1 fie_ & fow wgar g ?

1. Ferer

2. TR

3.¢9



Correct Answer :-

o FIU

7) & & WR W AR, 49 e § 99 =R |

U -gpe 7ReR YR, & S GHT JA |11 S S URd ] 11211
T JOIg G T § WRI, g, G 3% §ART |

TR T9-0 931 W 9RT, aon: GoI-faRIT 11 9 S URa - 11R11
9 R g4 AR 81 oI, A 31 5w e werd |

ST T @ ot 7T, B9 AR 11 X URA =T 11311

3 & 3 3= & T, ey 7 oft 3 A

? UUrY gEreh! Yurn, ofta T8) SRR 11 S & HRd 7 11¥11
3@ R B faward, IHbT 3U ger 81 &1 |

Wd U FHHI BT UM, I 719 1T 11 F S URA S 11411
9 &1 39 U Rraemman, Fuar 31 g | et |
AGYA-TUTG FeT3N, At THd FAR || F S YR T 11§ |
fog ga@w™ SIS, a1 TTd TG WIE-WTS |

T & T9 R ASE, PaAl-Hal W || F T YR ST 11011
3UeT YR GUR, T A & TR gAN |

YR- IR P ER AR, S XA IS 11 S S YR I 11¢11
ITYe Ui B U 1 YD T UY BT IR Id133:

W - TR & AR URT 3 BT JPHe DI 8 ?

1. i8¢ #FAgER

2. fgATe™

3. gar

4, Vg

Correct Answer :-

8) O & Wi 3 R, diF A # Wed AR |
fRufft-gpe AAlER YR, S & YHIT JAY |1 & & URd 377 11311

T g9 G T 3 WRT, YR, T 3 §ART |
A T9-01 931 W 9RT, ao: GoI-faRIT 11 & S URa /1 11R11



TR0 R g 9d, A e gu A 9ed |

ST fUaT 3 gt 7, g1 @ RN 11 R S YR ST 113
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uf¥dzr & qIfed 81 9l 8 | Hfa 9107 S SR § Ueh SRTeHIfae sufed o1, 98 forg SExa &1 T aredn
8, 98 ToHIfa® ¢ | 39T 9 $ad 98 WU IS A It o1 8, afew fAooma W gy S g | a8 f
B< dP YSHITA A I BT YT, STPT Udl TP 39 HY I Iddl 8, IeHIG Pt pied Yot A 43 9
R 8, SR I S va B 1"

ST T DI UgHR A1 T TT UY BT IR 9a133:

UL - B 9107 Oy I Y uTHT 18T 8, 98 P &1 UK 82
1. AlAGA

PACICSIIEED

AT EIRED

4. ARHA

Correct Answer :-

28) & AT & SIUTYE P THBYT B IAT-Ifad START F 7Y & Ugd B IRURT 81 381 B,
AP T8 TP Yaa: Ie-fae ST § | STUN § gdg-aTee HRd & Tad 3R Hfed weHifa
=t |t fawanaii & w1y 19 g3 3 | U "M 3R SHaite® Ieiae saawT SUIR 3t Bt
a1 2 | STt Te ATt <=t A faelis gt ot € | St 3t Ot U weifae geanssai SR gE R
TAUTYE BT ATHABYT ' IUATH B Y3 HA & SRTSIab Tl 3, AP oieg & T HuT I
gf¥a=r § JHIfRd 8 STl @ | i 9107 S 3R # Ue SRS aufdT U, a8 R/ SExa &) urET argdn
8, 98 ISP ¢ | SHT 7 Pad 98 W IS § S oraT 8, gfew frowona «f Y smar @ 1 98 frw
B¢ aP I A ITH THT AT, DT UdT 3P 39 HU A Iadl 3, oIt &1 pfea Yot A ggt &9
foran 3, AR =T SEUT § 1"

ST TR BT UgHR 17 YD T Y BT IR ga133:

U - B 9101 BT Tl 77T 7 b SHPT TUT SUA B 2
1. 38 YFE & TS gl

2. 30 AT H T AT ¢

3. Uatelifdeh Ty & sRoT|




4. 391 3y fhar g

Correct Answer :-

o Tafade @AY & HRUT|

29) & AT & FIUTYE P MTHB YT B I-Ifad START F 7Y § Ug B IRURT 181 31 B,
AP U8 TP Yaa: Ie-Ifaed ST § | STUN § gHda-TaTa HRd & T9d 3R Hfed TeHia
St Tt faiwansii & A1y e g3 8 | U UMAIg 3R SHdif® Ae-iad el SUART It dsig
a1 8 | 919t e Tt >0 § faels 8 ot ® | Sumr @Y @t e weifas geansr i AR gE R
FUTYE B ATAHABYT ' ITATH B YB3 HA & SRISIad Tl 3, Afp vieg € T8 HuT I
gf¥a=r & JaTfRd 8 rdt @ | Hfa 9107 Y 3R ® Uw SRS aufdT U, a8 R SExa &) urEn "redn
8, 98 Ao § | SHRIT 1 $ad a8 Wy et & Iagt Srar 8, afew o ot Y sirar @ | 98 few
§< aP YoHA A ST GHT YT, DT Ual TP 39 HY I gl g, JoHia Pt piea Yot 3 g3 $9
forar &, AT ST SRIHT © 1T

ITYa TR BT UgH -1 I T UY BT IR 9a133:

Y - Mo @) pfed yorft A gzt S9 forar 8~ 59 arga A yoiil s arf @ 2
1. geur

2. deldR

3. foeg

4, TN

Correct Answer :-

30) fESY AT # QTUIHE B AP UT ' HI ASHIAP ITUN & 7Y H U Pt IRART 781 61 &,
AP U8 TP Yaa: IAeHIfad ST 8 | STU # gHdg-eTe- HRd B T9d 3R pfed IeHia
-t Faft fawanait & W1y 79 g3 8 | U AT 3R FHai® Ie-ae saawiT SURT $1 dig
a1 2 | STt 9 Tt =:it ¥ faels 8 ot @ | Sum 3 @t e weiifas geansr i AR gE R
SIUTHE P ATHBAT' ST B T3 YA g1 SRTSIAD Tl 8, AfhT Sieg 8 T BT Io-ifas
gfea=r & wTfRd 8 Tt @ | Bfd 9107 S 3R ® U SRISHIa® afdT U, a8 R SExa &) urET avgdn
8, 98 Ao ¢ | ST 1 $ad ag WY Ie-ifa & Sagt 91T 8, afew o ot Y sirar @ | 98 fw
§< aP WSHa A IT BT YT, DT Ul TP 39 HYU I gl 8, JISHid Pt Hiea Yot 3 g3 $9
fRraT 8, W1 T SRGYT @ I

ITYe TR B Ugh? - YD T Y BT 30 Td133:

Y — ‘FIUIHE B THBUT SUART B Sy T Fr 8 ?
1. &Y 3R =T cggEdn

2. TSThIT 3 T egaedr

3. AT 3R S cageen

4.an'\=|?ru-q"grmaqa¢m

Correct Answer :-



o A 3R SdifEe cgaeen

Topic:- HINDI (HIN)

1) “REY 3 IET TN A Fgd § TEH vH AT 3FR F Maw Fh By #1 aoie o
yfauresr v Ry fshivs, Faceqan, s 3t wellaar aur smaeas w@afa 3R d@aquar &
T fwar T @ I Fue Fed gErr foar war §?

1. SL.ARIeg

2. gRaY T ST

3. YHeIG

4. 919 [T’

Correct Answer :-

2) st & 33q 7v5 fFad qanr fAf@a ey 32
1. TATY ATEAT

2. FeRATYT THg

3. FAAIGIRATH el

4, gier dAgar

Correct Answer :-

o HITY ATEAT

3) HTEd 97 & West F e i A Frwer gAY A @ §72
1. 9vor fafy

2. 99 HE&AT

3. BISel TEAT

4. @rdr w&dm

Correct Answer :-

4) fretor WErIE T, fretor rfOerd uihar ¥ -
1. 3WFd T



2. hael AT FLar gl
3. shad IRT FAT ¢
4. Fael gITad FAT B

Correct Answer :-

o 3WIFd T

5) Sl & 9 OF dd ad & -
1. SogaTfrerdr

2. 1Y JGoT

3. 919 vg fauR

4. TG UG ol

Correct Answer :-
. H9 U9 fAR

6) s ¥ FlT FeT PATUFER F w0 F gy &2

1. faeznfeara @

2. Fepdrelel THH

3. gAY qTHS

4, FATGTelleT TJIET

Correct Answer :-
. gREUAT oXETS
7) g ¥ FiF-A1 AGT FT GFR AE §7?
1. FATdhR Haell ey
2. Higdardr faee
3. Tifgfcas fase
4, dfed ey

Correct Answer :-



$TH ¥ FlT-AT Fgredl Aere e A g ga?
1. 3ThgTaAT

2. 575 FETelt

3. {SCATET gl

4. STeTaTeY gl

Correct Answer :-
o ST Hglall

9) ‘@ el | Faf (3wsmmam) A S 2
1. afRa#Y e

2. TSTEATAT

3. 9gIsr

4. qdf gy

Correct Answer :-

. gRREelr R

10) ‘srgafer fFaehT FEel &7

1. Jig

2. Foe] ST

3. gedia

4. T AT

Correct Answer :-

11) firewr- Mot sTRF qeosfal F TEaey O ¥ FROT aoal & weel vd oaAwor o -
1. FROTAr a8 ST g

2. GHTACT Bl &

3. TqSCT gt gl

4. fafayar or$ Sl &

Correct Answer :-



12) @ 1954 H yifAd ‘Tt HAar 9 & dues & -
1. 3T. AAEIEY TJACT 3R 1. STETErer ot

2. 31, AR g

3. THYRT TeeTe

4, STITERAT TJACT

Correct Answer :-

o ST YAEIET TJder 3N 1. STETErer e

13) ffasrela ®fa Rl FaF 3mefRa s 92
1. AGRIST SAT&g

2. AGRIST ST

3. T FEATE
4, YT RIarsT ARIST

Correct Answer :-

. HERIST STATGE

14) fAAT & YR R A & FiT F @ & &2
1. Qollel, 372elTel HTHT

2. TSCIA, TSTHTST

3. YEY, Yy AT

4. AT amwr, 3fABT s

Correct Answer :-
. AT s, wfAEa e
15) 9IEATEds HErAH el ¢ -
1. WA FqHY
2. hddl GIGTHHA HI cTAeUd A & ol H
3. hael AT & 9fd 3 3ceed A H

4. hadl TI-3EIJIT H



Correct Answer :-

o 3WUTd T

16) eafaal 1 yeliel & RAftegy T a1 F FRT YT F F Fea € -
1. or@eT fafer
2. gqur fafer
3. 9rge fafer
4. 9o fafer

Correct Answer :-
. oEe fafy

17) 99 d@a # ‘GEUR FET F FAT a9 §?

1.%d § a7 forger

2. 99 # fafy forgen

3. [ TEY FATT IG=AT

4, qafaf@d wat &1 d@est

Correct Answer :-

18) Feal A oTT @™ & Weast H Rarw 1 3T A1 ¥ -
1. dr@st $r ufsrar @ aear &

2. Sl & TAATART T THeol el

3. gl T g S & AT

4, §OT ¥ YT HIH Ahoray & AT

Correct Answer :-

o W@ A uihar &1 [{EIR ST

19) wofleay oy Y] fFE YFR & FEEIPR A 1A 2
R GICEIGED

2. 3o



3. QAR
4, g A

Correct Answer :-

20) giAamwica 99 Fa ‘Aeader dF Fgwer fra el wergey & e w smafa
87

1. HGTCHT el
2. gAY dg

3. TSR ToaTdlTs U

4. AgG 9T g

Correct Answer :-

. FETeAT TR

21) wadefi 99 FT 3TANT -

1. HATERI 97 IIgR & v giar gl

2. %had JafFds 93t & fow fRar S a@har g
3.3% & MR 99 <¥agR & fow g gl

4, WS UF <TdgR & foIv 8ar gl

Correct Answer :-

o 3 F MR UT JIgR & foaw gar gl

22) fafy &1 yaer #r & fRw sfRcafaa # g -
1. Af@®

2. Hiehfcleh

3. fof@a

4. 31w

Correct Answer :-



o1 wfaat & {fderyt A @ 7 WEF Feg Rgyial a1 F@ol F HqAR FeF =T #7 E,
37 FAT Fegl ATl 67?

1. QfAf8ey wia
2. Qfdecy &iq
3. el i

4. AfdAFd wfa
Correct Answer :-
. dfafcy wfa
24) w71 RNETT F AT F AN FX FE TUlT FT TERT AT TR, FHA FAFRY @t ¥ -
1. fRreTeh &l

2. facaTer g &t
3. BE &

4. ATAT-FOar sl

Correct Answer :-

. frerd #r

25) siffcafaa shra & afaer ¥ -
1. Shddl Srelell

2. hdel forger

3. Gelall

4, SreleT AR Tor@eT gt

Correct Answer :-
o dierer 3R forger gEr
26) I gat F FRAAT A Fer ST ¥7
1. fafy
2. gerereT
3. EEAIER
4. oo

Correct Answer :-



27) @RI T H Y9F & FEARR Fgl gl TIgu?
1.99 & 3d 7 g 3R

2.99 & 3id H 91 3R

3.399 & Y

4. 97 & IRHA H AT 3R

Correct Answer :-

o U3 & 3T H T 3R

28) wAfFaay o fFa R F1 @w F raw R FEr 92
1. STTIEY

2. AT

3. Jordierd

4. Beraa

Correct Answer :-

29) fawst & ¥ fFE FErEY F1 I3Y IAIG AT BT §?
1. $U I Hewh|

2. Sleil hIal T glaT|

3.F H & ST I ST

4. 1l e Hg ||

Correct Answer :-

« el 38R HF S|

30) faFT & & ey weInAT R § -
1. WA FqHY

2. gl drg-faarg

3. hddl ZHE

4. hdel Hediail



Correct Answer :-

o 3WUTd T

31) A7 & ¥ AT & AT F YR W qFT HT HIA-A71 A 81 87
1. fy arerg

2. 99 drdeh qre g

3. O are g

4. GgFd aFg

Correct Answer :-

o UR%eT dTdeh dlad

32) et H ¥ P9 YR & o9 & Qar & for@r Jar 87
1. ATRETR 9

2. 3g=RRes 97

3. 3RS 99

4, 3gfFaP IT

Correct Answer :-

o 3gaie 97

33) fawet # ¥ *ia-W faQwar v F g 32
1. TehlehT &l ATeh SR giem &l

2. T AR @YY BT E

3. Uil # TH & 99 gIar gl

4, TRIhT H TH & 3F g g

Correct Answer :-

. UHRHI H UH & 37 g Bl

34) Prfaf@a iFaat & sl @15 § -
e aRuTERa 9T W geex ¥ |

& T I AFC,AGAT T § |



AfAt 97 yarE, e aR Avse § |

) Ay R, av v R

wa FfIvsw g §, afoerd s@ Jor i
¢ ATGEIA o we &, qapor A wder A
1. G5 T

2. B B

3. TLATETY Bog

4. Hfdd Geq

Correct Answer :-

35) fae & wal #r amar waeht FReAT F7H P -
1. 9T6T-TE] T TET F H

2. YregITaRUT Faelt
3. gdT ey

4, JIFT-TITAT aelT

Correct Answer :-

36) frel # S e YT 3/ YA GAH A Ay BFAT ¥ -
1. oGt
2. HEoT
3. 9T

4. ATYOT

Correct Answer :-

37) Arfaf@d & ¥ si9 91 3u=aw s gt F1 a8 22
1. #eT 3T
2. 3R

3.dAH



4.@

Correct Answer :-

38) g=a #T9T W@ A &G F W a1 AT §1 T§ FUA T A @ rwaw B-
1. gradla

2. T

3. TrEEhT

4. TSN

Correct Answer :-

39) gaa & afafafer afe daw sk sweh gl ar -
1. g AYTEr gl

2. I 37T G A & HLT|

3. 9= 3R €T Higd @ el

4. od ET H AT |

Correct Answer :-

. T HF LA ST S geal

40) fw wgrred & AT WA A Raw # @ 1972 §. & ARAT A [EFER
gereT fhar o €2

1. 3

2. G

3. (A
4. Fo&IT

Correct Answer :-

41) e g§ a1a A T A% gerEn S g 3 € 3w & a% I o @l @



1. Tl &1 feuid

2. fReor gt 1 fAeErd
3. 3Mgfa &1 fAewid

4. grgad & fewia

Correct Answer :-

42) At FfAdT A HFeq ydld T & N1 AT §, 544 A a8 Fhaw adliw 872
1. 3% & fadsie &

2. SFT 3cHTg, SiaaATehielT 3R 3elredr

3. Aeierd Taals @

4. i UH I

Correct Answer :-
o 3CEY 3cT1E, SaaTehieT 3R 379redr &r

43) wF e 9T dwd H FAvanst A Few 7 F P Reg F A A S 32

1. 9105 gedie

2. GIeT ATT-elr

3.99 oI@e & 39N HT FAQYA

4. faamt i gEasedr

Correct Answer :-

o« TIUScT Yl

%ng%mwﬁ 14 3R 12 ¥ 91¢ R (A 3R 26 wEME A & U BT B

1. fesrarer S
2. M Teg
3. Ul T

4,38 <

Correct Answer :-

o M B



45) ‘BHMERE dcdd: YHfa & & e #1 3¢y 8, 38H A g watcHarg g
39T FUF fFEF @RI FeT TAT §7?

1. ITETEROT AT

2. ST T TS

3. YR [ Tt

4, AGIEAY gAY

Correct Answer :-
. Fgredr gAv
46) fArAfaf@a 9Faal & Fia @1 3edR 272
gfer amse fgaRam #rel
39 #fg A fagdr va el
1. T&TUT QMg ATFA
2. SSTT Asq;, AT
3. 3T 2reg Aferd
4. giaer 2resq AfFd

Correct Answer :-
o SUSIET UG ATFA
47) Prafaf@d iFaat & sia a1 o 7
IR, A AT A F g U W@ §1 A U §, Foher w1 § AR Arr g H
WY, ST 3/ SAAAT FT FAT AT AT EN? N AT WA SrwET v & WS g
1. HEThledl Bog
2. AN ©og
3. REaRol &g
4, AT Bog.

Correct Answer :-

48) 5y F1cg A & I H FeT TAT T -



Ig Th YR FT quldcA® Ja¢ g1 5TH Vud Freang St & fFedft safFa &1, @y w0 3§ fFh
dR A7 AFYIY FT GAHA & IHAAR et aRa @ s g

1. aRka Freg
2. AGIHIT
3. QRTOT

po]

4, 3TEATT

Correct Answer :-

« IRT T

49) ¥@ RFeq ar-

o o1 & gea & AT 3evew @ 39 07 FEd F
1. IEF T[0T

2. 3T T[0T

3. 9dIe 9[0T

4. FLH 3T

Correct Answer :-

50) ¥ fA%eq Td1U -

FAF Hadd Bog Rl RER-GF a1 o019 4T § gafPyd ®d &1 59 e & o A7 faEw v
e Faw: RfEard &ar §, g6 i Aeguar & 2

1. 9T e
2. faser s
3. QRIOT 1y
4, AT FT

Correct Answer :-

. Y Feg

51) ¥l faFeq 4T -

TS Saer & R ol wuF F Ageaqot FI q@d | Fgel THal ¢l
1.a51==mamn



2. JTSEHTST

3. gifgfcaes #mT
4, JTSTHATST

Correct Answer :-

o JISCHTNT

X

52) fArafaf@d 9Faal & *ia-ar seer &7

daf-are FRT-E TH W -0 393 98 RN F 9 F9 37|
1. faRremay 36

2. FifdA edR

3. HSg HelhR

4. 3AT HAPR

Correct Answer :-

o ERUTHY 3ePR

1. [99R dca
2. 919 ded
3.3 dca

4. Msq dcd

Correct Answer :-

. fTOR dca

54) W& RAFeq IaEA-

eIy faay sma g sff gl 8, W Wt fr @it Rt & ey et =T
g Bl

1. GEf& yeTel 1 fraRideren

2. 86T TNl IT 3dioieh

3. 3do 3R S

4, g 9UTT 7 TAOR™Ae



Correct Answer :-

. YEf T A7 feuRSih

55) foer feeul & wedhl, gro-aRew, Reie-cgv wit 7o gar &1 W& Pawut # oo
& g B

1. T

2. gAc-gaTd
ACICNEIIESE]

4. Fordl 3R &t TR

Correct Answer :-

o« Tordl AR & TR

56) tR Wty ¥ sfagr-d@a & Few-wl F IFEATT FT A6 9T 1 F& AW F AATAR
mmmgﬁmmmwaﬁmﬁ%mwwmm%l
IAFT FgaT ¢ 5 TRcT F1 sfgw Tiftca-wul #1 sfag &1 3=+ argf & 37 ¥ &1 @ femat
F1 994 3 aRada v Rfse Waeg@e dest & gar 81 v FeE® F I aRT-FT I
I §1 MY 39 Fqarm F Fo Wae@s FRor g 5 Froi At @ F IomE F @t #
HATS-HYF Ffoera ¢ gram

IRTdE ' e AT BT v wear #1 3car faf@w

A F HAR st F1 97 AR aRadar w9 @ar 82
1. IREIATTAT H

2. HTeY-TOT H

3. GAN dqFd siderd #

4. faferse efaerfas aiRkfEufaat #

Correct Answer :-

. faferse tfagfas aRfeufaar #

57) R Wifecy & sfagro-o@a & Fea-w F HCIIT F HAE TGT ¢ Fo AN F
AAER Wifeed &1 wiitfeas sfagw-dus wiftcg-wal 1 aRadaear & sreags W smnia
AT 81 39T gell ¢ & Tifgcy &1 s wifgca-wat #1 sfag 81 3=i® 3raf & 37 @
g1 W fQemsit #1 ager 3 oRada v RAfdse WaeRes west & aar &1 v FeE™ & 9
AFT-FT oo o §1 BT 30 qgad & Fo WMags FROT g 37 FRo A @ &
yrerra H wifeew 1 wATS-wYFd sfaer et gl

TR=dg F TeH AT RU 10 JeaT F1 3cax @
fer FROT & @er F 3raa F wifeey w1 wAS-wyFd sfage 9 @ aFar?



1. 3fae @t

2. T & TG

3. HIET-FAT & HEITA

4. AIfgcT-FAT & FGoTdal & HRON
Correct Answer :-

. TIfgcT-F9T & Sconal & HRON

58) 3t} Wity ¥ sfagrw-d@sr # Freg-wdl & ILAAT F HAE q9T 5l Fo A F
memmmm-waﬁm#mmwm
m%lmm%%mﬁﬂsﬁmmﬁw-WWsﬁam%lmmﬁ#waﬁ
21 9T Rt F1 99a 3K RadeT e RAfse MWATRAF west A @t § v FEE® F 9K
AFT-FT e o 81 BT 30 qga@ & o Wags FROT g 37 FwRoit 6 @ &
yrerra H wifeew &1 wATS-wYFd sfaer et gl

IR=SE F TeHT T T 710 N &1 3cav _Af@w:
wEdd wegrer 1 3R ofdF g whar 82

1. GATS-HYF ATigATIgr

2. wreg 3R sfasa

3. Fifged 3R d@e

4. [aumera aRads

Correct Answer :-

59) 3t Wifecw ¥ sfagra-dwsr § Fea-wdl & IEIAT F HAE q9T ¢l Fo Al F
HaER wifeeT &1 wiftfeas sfaew-awe wiRer-wat #r aRadaerar & seages @ araia
giar B 3991 Fean ¢ F wfeey w1 sfagre wiftew-wat &1 sfaegw @1 3w ardt &F 97 @@
¥ W Rumat &1 Taer 3k oRads e Aftrse MR @t F 9t ¥ e FaE®™ & 9
AIRT-FT 95 ST g1 B 39 dgad & F& Wagfds FROT gl 37 FRon A @ &
m#aﬁwnmmsﬁmaﬁaﬁn

TRTBE F TeHT A T 10 N &1 3cax Af@w:
I F I[AR 5w agamd & st aefE Fwor g
1. faemai

2. fgT o

3. Fifgca-wr

4. UfgTi@e Heey

Correct Answer :-



60) 3tX Wty & sfag-d@s # Frea-wi & ILAAT F HGE 99T &l Fo A F
mmmmsﬁmmmﬁw-waﬁm%mmwm
m%lmm%ﬁ:mﬁmsﬁmmﬁw-WWsﬁav%lmmﬁ#ww
T W Rumst &1 gaer 3N oRada e RAfdse MWaes west & 9T §1 v FoE™ & 9
HAFT-FT e A §1 BT 30 qgad & Fo Wags FROT g 37 FRot A @ &
yrera H wifeew &1 wATS-wYFd sfaer et gl

IR=AE FI JeH AT QU 71T god 1 3 _f@w:

AIT F IHTUR AMigcd F sfagra-d@a & frad eqqer 1 3IE q97 87
1. STe-FT

2. HRUTT & eI

3. Freg-geufaat

4. OfcEri@e Hest

Correct Answer :-



